Astronaut Air

Filename: air

The Problem
The “Divine Powers that Be” have decided to go to the moon…again.  In order to help our young astronauts, you need to calculate how much compressed air they will need to bring with them to the moon.  A grown human needs 9.1m3 of uncompressed air a day to survive.  However, the shuttle can only hold 400m3 of compressed air.  

You will write a program that receives three inputs and will output the required amount of compressed air required and if there will be a problem.

Input Specifications
The user will enter 3 values (see example inputs below):

1. How many people are going?

2. The compression ratio of uncompressed to compressed air.

3. The length in days of the trip to the moon.

You are guaranteed the ratio is between [1,100] inclusive.

Output Specifications
The program should print out the air requirements for the trip and if it is possible to carry that much air.   If it is possible, output “Mission a go!”  Otherwise, output “Houston we have a problem.”
Example Input/Output
How many people are going? 6

What is the compression ratio available? 1.5

How long are they going to be gone? 10

The required amount of compressed air needed is: 364

Mission a go!

How many people are going? 4

What is the compression ratio available? 2
How long are they going to be gone? 23

The required amount of compressed air needed is: 418.6

Houston we have a problem.

How many people are going? 1

What is the compression ratio available? 4

How long are they going to be gone? 30

The required amount of compressed air needed is: 68.25

Mission a go!

